18" C515 FLG X FLG

18" C515 FLG X MJ

le. ﬁ - 2.2 -
ﬁ 6.38 ‘ 32.25 ‘ 1438 - i< 35 o5 >i
] T [ | | ] ]
25.00— B
j D 29 50 1 iy ) 24.75— —(25.00
/\ 22\.50 n
16 X0 1.25 K/ e || ]2‘38 _
_ ON ©22.75B.C. ' ' 8 x .88 HOLES N
\ P L dx@sssions ¢ HOLES X 1.2
| 53 FLG END: —=1.40 | 1.154 ON ¢ 23.25B.C. Mttt
- ANSIB16.1 I |
1700 CLASS 125 7.007+7%.38 MJ END: AF,Eg’l E’;‘?-]
AWWA C110 -——18.38— ANSI A21.11 AN
AWWA CI111
AWWA C110
18" C515 MJ X MJ 18" C515 MJ X TAP
- 16.38—- - 32.25 . — 1638 - 32.25 -
C | i ] 11 i m ]
| | — @ 18.94R.F.
B 0 24.75— = I = | 7 25.00
— — - ] fE — .
| [ %§ 22.73 2250 1L 724.75~
| 8 x B 88 HOLES KJ ' ‘ le] ‘ 8 x .88 HOLES
12.38 X5 \ , 12.37 12.50 12.38 4 x© .88 SLOTS
T 4x 0 .88 SLOTS N\ P | ‘ ! ON 23.25B.C. 16 x D 1.25 HOLES
— ~—1.19 MJ END: 25 RA|SED__< - ~1.15 ANS| A21 .] 1 LG END
- ANSI A21.11 FACE — =1.32 AWWA C111 :
18.75 AWWA G111 . 93g- ANSI B16.1
— 9.00 ~ CLASS 125
AWWA C110
-—18.38— o MG ROECIOL | rrormn e uewmecomommon - T
AR AR | e R e e [ Fida cLowW

MIN RADIUS:
MIN DRAFT:

IIIIIIIIIIIIIIIIII

£3/64 FRACTIONS: £ 1/64
£1/16" ANGLE: +1°
+3/32° | SURFACEFINISH:  125pin
. RADII:

AAAAAAAA

IIIIIIIIIII

EEEEEEEEEEE

IGHT

L BS.| GATE VALVE

18" C515 OS&Y RESILIENT WEDGE

WALWE COLT

[DRW BY:

CHK. BY
12-01-2

(CHK DATE:

EEEEEEEEEE

1:8

SSSSSSSSSSSS

Solidworks 2018 SP2

'I EEEEEEEEE 21

SHEET OF | )




c I

I i I

° I

20

21

93.00
OPEN

72.25
CLOSED

UL T T T LU O L LT T T T LU LT L AT T T T LT LLLE L ERTNAR A
(T ORI T LU L L O T T T T AL LU L LTV VT T LT O ALV ELA

I[ Z \ 7/ I‘B\ '_e A
Li nH

66.62

il

Sy

41.25

22.50

/1

35

/3

32

93.00
OPEN

72.25

CLOSED

/1

.35

= O T T T W e O O L T O T LT T OO T LR

66.

62

41.25

=
L Hl
L ~—
[l
J 1 dJ I'I'I__I=|__TI
| | Il
T I =S
{11 11 T 11 T 11 \ [T T <

22.50

/6

A7

OJECTION

STANDARDS: ANSI/ASME Y14.,100, Y14.5M, AND Y14.41
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED.

TING TOLERANCES

+1/32"
+3/64"

DECIMALS:

RADII:

HINED DIMENSIONS

SURFACE FINISH: 7125 uin

18" C515 OS&Y RESILIENT WEDGE

.| GATE VALVE

CLTW

WALWE COLT

[DRW BY:

12-01-2

EEEEEEEEEE

1:5

SSSSSSSSSSSS

Solidworks 2018 SP2

2

SHEET OF

6

SHEET SIZE

D

21




c | D | E | F | G | H J K L M

I ° I

R I

20

21

BEVEL GEAR WITH HANDWHEEL

93.00
OPEN

93.00

I
OPEN 79.25

— 16.00

i /73.32

72.25 /2.89
CLOSED

72.25
CLOSED

/1.35

41.25

SPUR GEAR WITH HANDWHEEL

2
e ,
19.89—
E'E [ J
E ! .
i 11 i I )
fa
' == - -
1 ]
O YT U o0 —
)
7
8
9
10
] Il
I 11
\ | e |
12
{11 {11 {11 | T 1 \ [T 11 N
A
T W W & W "
Y \ Y I \
OJECTION.
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFED. CLoW
EASTINGTOLERANCES . MACHINED DIMENSIONS I'-.-".-'-“'LI_"ELD —
47 +1/32" ]
o S | Ao e 18" C515 OS&Y RESILIENT WEDGE
-12" E: ) ESTIMATED WEIGHT
12187 vz | Skeacerms: 125 in LBS.| GATE VALVE 3 [
:\:&I#::D‘US +:;§ RADII: /8 ORWBY: _ |DATE DRAWN T |ChK DATE  |SHEE SCALE ] 6 SRR RS SHEET OF D
MIN DRAFT 2 DWI 12-01-2 . Solidworks 2018 SP2 6




20

21

93.00
OPEN

A T e T T T T L

72.25

CLOSED

O e T L L T T T O L LU AT T T L OO LT LAV CTL N

R

it

4]

/1

\

22

.90

25

.62

BARE STEM

STANDARD FAT16
MOUNTING

4 X .81 HOLES

ON @ 6.50 B.C.

BARE STEM
MOUNTING FLANGE

|

|

@ 2.19 STEM

THIRD ANGLE PROJECTION.

STANDARDS: ANSI/ASME Y14.100, Y
TOLERANCES AS FOLLOWS UNLESS O

14.5M, AND Y14.41
THERWISE SPECIFIED.

PROPERTY OF MCWANE CORPORATION.
ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
MCWANE CORPORATION AND [TS SUBSIDIARIES.

DESTRUCTION REQUIRED UPON COMPLETION OF C

CASTING TOLERANCES

0-4" +1/32"
4-8": +3/64"
8-12": +1/16"
12-18™ +3/32"
18-UP™: +1/8"
MIN RADIUS: 1/8"

MIN DRAFT:

20

MACHINED DIMENSIONS

DECIMALS:
FRACTIONS:
ANGLE:

SURFACE FINISH: 7125 uin

RADII:

+0.005
+1/64
+1°

1/8

OTHERWISE ARRANGED.

| DIRECTED US|
ALL RIGHTS RESERVED.

MATERIAL

ESTIMATED WEIGHT

[DESCRIPTION

18" C515 OS&Y RESILIENT WEDGE

.| GATE VALVE

CLTW

WALWE COLT

[DRW BY:

12-01-2

EEEEEEEEEE

1:6

SSSSSSSSSSSS

Solidworks 2018 SP2

7

SHEET

6

OF

SHEET SIZE

D




A D E F (@] P Q R S T U \%
1 1
2 2
3 3
C
4 4
i :/
5 % 5
=1 2 =
~
6 )
7 7
— Z N
8 8
: DETAIL A :
[ '
I
10 | ‘ 1 10
N
g oy | \=Nix
11 @ I
| a ]2
/ ] I ] I ] I ] I ] [ )\ I \ [
13
B i ) I [ i ru ] ‘@7 ij -HJ‘ ( H |
N\
O —
\ ——4 _Le<T
| | | | M
15 M
y/\
O O ’
—] \ —]
O O ’
— I~ M
16
M
4
M
N X
4
17 f
| e | M | e |
M
R=x
) O Oy //‘
3> )‘
. O O
[ROUGH PTNO. [FINISHED PT N
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO I_ i~y
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ REERENCE (EVEION ' l w
OTHERWISE ARRANGED. ALL RIGHTS RESERVED. ¥
— CASTING TOLERANCES MACHINED DIMENSIONS W WE LD |
0-4" +1/32" MATERIAL DESCRIPTION [ .
o " DECIMALS: +0.005
;?2‘”_ f?ﬁ: RACTONS:  21/64 b 18" C515 OS&Y RESILIENT WEDGE
S * ANGLE: +1° SHEET SIZE
21 12-18" +3/32" SURFACE FINISH: 125 pin LBS . GATE VALVE 5 21
18-UP™: +1/8" RADII: 1/8" SHEET OF
MIN RADIUS: e DRW BY: DATE DRAWN: _JCHK. BY CHK DATE: SHEET SCALE 5 SOEWAFEC;SED << 2018 SP2
MIN DRAFT: 20 DWI 12-01-20 . olidworks 6




VALVES CONFORM WITH FOLLOWING
STANDARDS
« AWWA C515
* NSF 61

e LOW ZINC BRASS STEM AND STEM NUT
AVAILABLE

e 100% DOMESTIC FASTENER AND O-RING
OPTIONS AVAILABLE

e OPEN LEFT (COUNTERCLOCKWISE) AND
OPEN RIGHT (CLOCKWISE)OPTIONS
AVAILABLE

e TURNS TO OPEN FROM FULLY CLOSED: 192

e +/- 5% WITH STANDARD 3:1 BEVEL OR SPUR ||

GEAR

« AWWA MAXIMUM ALLOWABLE CLOSING

TORQUE 250 FT-LBS WITH
STANDARD GEARING

e OPTIONAL HANDWHEEL CAN BE SUBSTITUTED

FOR STANDARD 2"
SQUARE OP NUTS

e *NOTE: STANDARD HANDWHEEL SIZE CALLED OUT

IN PARTS LIST**

e MAXIMUM PRESSURE RATING 250 PSI

ITEM NO. COMPONENT QTy. SIZE STANDARD MATERIAL MATERIAL OPTIONS

1 BODY ‘ DUCTILE IRON

2 COVER DUCTILE IRON

3 WEDGE EPDM/DUCTILE IRON

4 SCRAPER 2 DELRIN

5 STEM ‘ C95400 (LOW ZINC) 304SS, 316 SS
6 STEM NUT C87610 (LOW ZINC) C87850
7 O-RING #3207 EPDM BUNA-N
3 PIN 1/2" X 3-1/4" 303 SS

9 O-RING #469 EPDM BUNA-N
10 STUFFBOX DUCTILE IRON

1 BUSHING C87850

12 PACKING GLAND C87850

13 O-RING #425 EPDM BUNA-N
14 YOKE DUCTILE IRON

15 | CAPSCREW HEX HEAD| 16 | 3/4"- 10X 4-1/2" 18-8 S 316 SS
16 HEX NUT 16 3/4"- 10 18-8 S 316 SS
17 FLAT WASHER 16 3/4" 18-8 S 316 SS
18 HEX NUT 8 5/8"- 11 18-8 S 316 SS
19 CAPSCREW 8 | 5/8-11X31/2" 18-8 S 316 SS
20 STUD 2 | 3/4"-10X 3-3/4" YELLOW ZINC 316 SS
A HEX NUT 2 3/4"- 10 BRASS -
22 CAPSCREW 4 | 3/4"-10X3-1/2" 18-8 S 316 SS
23 GEAR ‘
24 OPERATING NUT DUCTILE IRON o @3]%‘.‘. ai'\ﬁg\éjggw*
25 COILED SPRING PIN 1OMM X 45MM 302 5SS OR 304 SS
26 5 LUG 1/2" NPT 304 SS 316 SS
27 5 LUG 2 3/4" NPT 18-8 S 316 SS
28 FOLLOWER 1 DUCTILE IRON
29 CAPSCREW 4 7/8"-9 X 3-1/2" 18-8 S 316 SS
30 HEX NUT 4 7/8"-9 18-8 S 316 SS
3] PACKING 5 | 1/2°X1/2'X 8-1/2" BRAIDED FLAX

2443 BLS

03/12/25

2370 GC

7/29/24

2328 BLS

04/15/2024

CW

01/19/2020 |__

CW

10/04/2021

DWI

12/01/2020

§§>wOUm-n

ECN DR

DATE

RRRRRR

8Up: £1/8 :
MIN RADIUS : 12/8 DWI 12-01-20 1 :5

MIN DRAFT:

111111

18" C515 OS&Y RESILIENT WEDGE

FRACTIONS: £ 1/64

+1/16" ANGLE: £1°  [ESTIMATED WEIGHT
+3/32" SURFACE FINISH: 125 pin LBS GATE VALVE
’ 1/8' .

RADII:

CLTW

WALWE COLT

6

EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE

SHEET OF
P2 6

EEEEEEEEEEE




	BODY DIM
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View58

	GEARED WITH OP NUT
	Drawing View38
	Alternate Position1
	Drawing View39
	Alternate Position2

	GEARED WITH HW
	Drawing View40
	Alternate Position3
	Drawing View41
	Alternate Position4

	BARE STEM
	Drawing View43
	Alternate Position5
	Drawing View59

	BOM BALLOONED
	Drawing View44
	Drawing View45
	Section View P-P
	Detail View A (2 : 5)
	Detail View B (2 : 5)

	BOM MATL LIST

